3.5.8.1 A

Resistance =40®Band3in parallel, and this combination in Series with the 2)
Circuit current =12A

Current through6 ) -4 A

Current through2 0 - 12 A

Current through3 -3 A

Potential across 60 =24y

Potential across 2 Q =24y

Potential across 3 Q =24y

Potential of source =48V

B Total resistance =50 (4, and 4,in parallel, and thig combination in series with the 3)

Circuit current =8A

Current through3a - g A

Current through 4 Q =44
Current through 4 Q =4A

Potential across 30 =24y

Potential across 4 Q =16V

Potential across 40, =16V

Total resistance =10Q(12 and 6, in parallel, and this in series with the 6)
Circuit current =9A

Current through 6 Q =9A

Current through 12 () =34

Current through 6 Q, =6A

Potential across 6 Q =54v

Potential across 120 =36V

Potential acrosg 6Q, =36v

Potential of source =90V
D Total resistance =80 (6, and 6, in parallel, and this in series with the 5)
Circuit current =6A
Current through 6 Q =3A
Current through 6 Q, =3A
Current through50 = 6A
Potential across 6 £, =18v
Potential across 6 Q, =18V
Potential across 50 =30v
Potential of source =48V
€ Total resistance =5Q (@4 and12in parallel, and this in series with the 2)
Circuit current =12A
Current through2 ¢y = 12A
Current through4 =gga
Current through 1200 =3 A
Potential across 20 =24y
Potential across 40 =38y

Potential across 12 Q) =36y

Potential of source
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3.6.1.1

Answers

(@)

(b)

(c)

(d)

Total resistance =14 Q (4, and 4, in parallel, and this in series with the 12)
Circuit current =6A

Current through 12 Q) =6 A

Current through 4 Q, =3 A

Current through 4 Q, =3 A

Potential across 12Q =72V

Potential across 4 Q, =12V

Potential across 4 (2, =12V

Potential of source =84V
Total resistance =6 Q2 (3 and 6 in parallel, and this combination in series with the 4)
Circuit current =2A

Current through3Q =1.33A
Current through 6 2 0.67 A
Current through 4 @ =2 A
Potential across 302 =4V
Potential across 6 Q =4V
Potential across 4 Q2 =8V

Potential of source =12V
Total resistance = 4,67 (2 (4 and 8 in parallel, and this in series with the R)
Circuit current =6 A

Current through4Q =4A
Current through8Q =2 A
Current throughRQ =6A
Potential across 42 =16V
Potential across 8 =16V
Potential across RQ =12V

Potential of source =28V

Value of resistor R =20

Total resistance =6Q (6, and 6, in parallel, and this in series with the 3)
Circuit current =3A

Current through 6 Q, =15A
Current through6 Q, =15A
Current through3Q =3A
Potential across 6 2, =9V
Potential across 6 &, =9V
Potential across 3 =9V

Potential of source =18V

Reading on meter A =15A

Total resistance =4 Q (8 and 4 in series, and this in parallel with the 6)
Circuit current =9A

Current through 82 =3 A

Currentthrough4 Q@ =3 A

Current through6 Q2 =6A

Potential across 8 0 =24V

Potential across 4 2 =12V

Potential across 6 2 =36V

Potential of source =36V

Reading on meter A =3 A

Transformers are used to increase or decrease the voltage supplied to homes so that the correct voltage is used with
particular electrical devices. )

Step-up transformers increase the supply voltage to a highefyalue.

Step-down transformers decrease the supply voltage to a lowehyoltage.

Step-up transformers havemore coils in their output coil than in their input coil.
Step-down transformers havefewer coils in their output coil than in their input coil.

The voltage is directly proportional to the number of turns in the coils.
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